GEOMETRY

| Time : 2.30 Hrs.) Questlon Paper March 2009 (Max. Marks : 60

Note : Please see to Question Paper March 2008 - _ s
Q. 1 ;: Solve any six sub-questions : . ' ' e (12}
{')SupposepomtsOABCDEaresuchthatOA 5cm,oa 6cm, OC-=5¢m,
OD=4cm,OE=5cm. OutofA,B,C, D, Estatewhich points Ileon same circle with centre O,

Why? Radlus ofacircle is 5 cm. P
(i) Draw an LABC of measure 100° and btsect it. _ /
__(iii) In the glven figure LPQR =90°, - - N :

segQN.LsegPR PN = 9, NR = 16. Find QN.

{w)ll;oose=i find sin 6. R e
(v) Find the distance between the points A and B whose co-ordinates are (5, a) and: (-3 2).
(vi) AAPQ ~ AABC; AP = 6, AB = 15, AQ = 4. “Find AC. c
~ {vii} In the given figure a tangent segment PA
touching a circle in A and a secant PBC are shown
AP =12 and BP =10, find PC.

(viii) Flnd total surface area. of a cube with side 6 cm

Q. 2 : Solve any four sub-questions ; (12) |
() in the figure given below, O is the centre ofa’ .
circle, seg PQ is diameter, line AQ is a tangent. if
QP 3 and m{arc PM) 120°, determine AP.

. . . . s o : . - A Q ) 99
(ii}-Find the volume of a cylinder whose .radius is 21" cm and height 12cm. (x= 7) :

(ili) Prove that : cosec? 85 - tan? 25'= 1. : ' T
(iv) Side of a rhombus is 10 cm and one of its diagonals is 12 cm. Find the length of the other
diagonal. ' -

(V) In the figure gwen below two circles wi‘lh _
centres A, B are touching externally and a circle.
with centre C touches both exlema!ly Suppose_
AB =8cm, AC=5cm, BC = 7cm Find the
radlus of each circle.

- (vi) Draw the circumcii‘cle of AKLM such that KL = 6.4 cm. LM 6.7.cm and LLKM = 65"
_ (Do.not write eontruction)
Q. 3 : Solve any. four sub-questlons FOL ' {12) -
(i) A circle of radius 2 cm-touches a circie of radlus 10 em mtemally Determme the length of a
tangent segment drawn through the centre of the larger circle to the smaller circle.
(i) Find the ratio in whlch the polnt P = (K, 7) ‘divides the joint of A= (8 9) and B-= (1 2)
internaily. Also find K.
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' AB
(i) &ABC APQR A (A ABC} = 16 cm?and A (A PQR) = 25 ome. Find —

PQ -
(rv) Prove that angles inscribed in the same arc are congruent
{v) In AABC, AB? + AC? = 122, BC =10, fnd the Iength of median on su:te BC
(w)ProvetanB X tan (90 - 9)—1 - A .
- Q. 4 : Solve any three sub-questions : BT . . T {12)
~{}) In the figure given below the inscribed circle ~ ' - J '
of AABC touches, side AB at L, slde BC at M and

side AC at N. Prove that A (& ABC) = ~(penmeter B N N
of A ABC) x {radius of mscnbed clrcle) L L P

B 'm c '
(i) Prove : i a line paraliel to a side of a triangle intersects other sides in two dlstinot points ther
the other sides are divided in the same ratio’ by if.
(ii} The three faces A, B, C of a cuboid in the fallow-
ing figure -have. surface area 450 cm?, 600 cm? and

300 cm* respectively. Find the volume of the cuboid.

_ (iv) APQR is an equilateral trian_g_le. Point S .is on s_ide QR soch that QS = 3 QR. Prove that

gPSZ=7PQ2 ' ' (Do not.write contruction)’
(v) Draw ﬁABC such that LA =60° /[B= 70° !_C 50° and radlus of its circumclroie is 3.4 cmi.
(Do not write contructlon)

(vi)Ina cychc quadrliateral show that the sum of the products of the.opposite sides is equal
tothe products of the diagonals. :

Q. 5 : Solve any three sub-questians : | ' ' ' ' (12}
~ {i) Construct APQR such thatPQ =5 cm, QR =6.2 cm,. PR=6. 7 cm. and draw its clrcumcircie.
Draw tangents to circle at P and R without using center. ' ' (Do not-write contmctron) :

_ (i) Find the coordinates of the clrcumoentre and radius of circumcircle of ABC if A = (2, 3),
“B {4, -1) and G = (5, 2).
- iy In .&PQR LQ=2/R.If an'le blsector of LQ intersects s:de PR in S prove that

Qs QR
SP. QP : :
{iv) A tmmaker converts a cubtcal metallic box into 10 cyhndrloal tins. Sme of the sube is 50 om

‘and radius of the cylmder Is 7 cm. Fmd the heig'ht of each oyhnder so made |f the wastage of 12%
“isincurred in the process T

_ . . {m= E)
. (A tree breaks due to storm and the broken part bends so that the top of the tree touches the
“ground making arn angle of 60° with the ground. The distance from the foot of the tree to the pomt
where the top touches the ground is 20 m. Find the height of the tree.

(vi)fPAB is a secant to a circle mtersectmg at points A and B and PTisa tangent at T. then
prove that: . = _

PA x PB = PT2.
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